([ Installation manual |

FM.100.SS
2000mm < N P
% 500 500 500 " i o8
| | AN
o L.mm | _mm_ | _mm_ | ‘\\\\/;{‘l%?\ 10 @%
S S A — s G — >
Rl : 18 ) ® Q=]
' 150-100
|mm
. : -
£ @
3 -
+ H
XL
%g 2)

ST4.2x32 (x 2) [ST4.8x32 (x 2) | ST4.8x50 (x 4)

v tomm, [ o | @D | gy (OID

o A 08(x2) | o08(x2)
A

To obtain the maximum weight capacity, all fasteners must be mounted securely into solid wood
of studs or blocking within the wall or wood mounted to the face of the wall.

Position stops on the rail
2 before mounting the rail on the wall
\




{e
@

)

(/2N

@S Oy

/b@ 0

X2

i when UW i
N4
2@

X2

q 1

N i
iwhen used with wood door > 1

i i

1 1

1 1

1 1

i

:

\

S

Reinstall

50mm 5omm 50mm
» < »

50mm 16mm 50mm

40mm

40mm

v55mm

'55mm

GLASS
Thickness:8-12mm

WOOD
Thickness:31-35mm




([ Installation manual |

FM200.SS
5 2000mm )
_ "l
\ 1
\ 1
£
£
o
H +
I
\_/
x1) (x1) ‘%]
@mmmmumw (P> mmmm(@%(m D]
ST4.2x32 (x 2)|ST4.8x32 (x 2)| ST4.8x50 (x 4)
- ¢ q’: D¢ é(i 0 ﬂmp—© @))))))))))
\ 4 Y mm A4 L 28 (x2) A 28 (x2) ) ®10\(>X4) M6x10 (x8)

To obtain the maximum weight capacity, all fasteners must be mounted securely into solid wood
of studs or blocking within the wall or wood mounted to the face of the wall.

Position stops on the rail
2 before mounting the rail on the wall




56 °Q7)]

EOmE 22mm 50mm 1§0m£ 16mm 50mm
(}? 40mm (? s 40mm
50mm 50mm
©
GLASS WOOD
Thickness:8-12mm Thickness:31-35mm



([ Installation manual |

FM300.SS
’ 2000mm )
. 500 | 500 | 500
- mm mm mm ;
ey ) @) ‘

H+30mm

E

(P | <cmmmm(3

ST4.2x32 (x 2)|ST4.8x32 (x 2)| ST4.8x50 (x 4

~

)
Yo tomm, L 0| e 0| ey

77777777777 ;,,,, N N S
9 28 (x2) AL 28 (x2) ) o10(x4) M6x10 (x8)

To obtain the maximum weight capacity, all fasteners must be mounted securely into solid wood
of studs or blocking within the wall or wood mounted to the face of the wall.

Position stops on the rail
2 before mounting the rail on the wall




Remove p

when used with wood door

when used with wood door |

GLASS
Thickness:8-12mm

139,198
16mm 4 » »
¥
WOOD
Thickness:31-35mm




([ Installation manual |

TM100.SS
3 2000mm R
I g
. 500 | 500 | 500
| o lmm .. mm . mm |
—— S
]
' 150-100 !
L lmm ;
| |
| !
g !
g | i
o !
¥ |
T ! H
| (o)
! Lo
i M6x10 (x8) =
i (x2)
i <t\m\mummumwI\m(e ‘““““““““““““‘““(e ((((((((((((((((«
i ST4.2x32 (x 2) ST4.8x50 (x4)  M6x30 (x
; 10 mm| i J T
28 (x 2) 210 (x 4) @8x25(x4)

To obtain the maximum weight capacity, all fasteners must be mounted securely into solid wood
of studs or blocking within the wall or wood mounted to the face of the wall.

Position stops on the rail
2 before mounting the rail on the wall




Reinstall




([ Installation manual |

TM200.SS
3 2000mm R
= T
| 500 500 500 |
{ ! mm o mm | mm ! ;
S T A - S 010
| A
50-100 |
m |
=
Z (x1) &
H 3 )
N O B
— O
T M6x10 (x8) o
(x2)
e N @@
ST4.2x32 (x 2) ST4.8x50 (x4)  M6x30 (x 4)
- T L ,
v  10mm v (x1) (—‘-O (_\-O J
] T 28 (x 2) 210 (x 4) @8x25(x4)

To obtain the maximum weight capacity, all fasteners must be mounted securely into solid wood
of studs or blocking within the wall or wood mounted to the face of the wall.

Position stops on the rail
2 before mounting the rail on the wall







([ Installation manual |

TM300.SS
| 2000mm |
I g
500 | 500 | 500
| o mMm MM MM | ;
,,,“r,%a,,,,,,,,g% , ,,,,,,,, I Rl
- ““““i
- 150-100 !
L lmm ;
| |
| !
g !
g |
oo !
l-? : 2> (x1) i
- |H =
- |
i —
i (o) =
| M6x10 (x8) ———
i (x1)
| (x2)
i <t\m\mummumwI\m(e ‘““““““““““““‘““(e (««(««(««(«@
i ST4.2x32 (x 2) ST4.8x50 (x4)  M6x30 (x 4)
B 10 mm i v Vi
28 (x 2) 210 (x 4) @8x25(x4)

To obtain the maximum weight capacity, all fasteners must be mounted securely into solid wood
of studs or blocking within the wall or wood mounted to the face of the wall.

Position stops on the rail
2 before mounting the rail on the wall







	FM100 installation_instructions
	FM200 installation_instructions
	FM300 installation_instructions
	TM100 installation_instructions
	TM200 installation_instructions
	TM300 installation_instructions



